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Paper IT

(PaysicAL EDUCATION)

1. The highest score point in Judo is
(A) Ippon
(B) Wazari
(C) Hansoku
(D) Yuko

2. The component of philosophy that deals
with knowledge, its kind and attention is known as

(A) Logic

(B) Axiology
(C) Metaphysics
(D) Epistemology

3. Atlanta Olympic is marked as
(A) Century of Mordern Olympic
(B) First Time Olympic in USA
(C) Olympics in North America
(D) Record Number of Spectators

4. The Indian Hockey team has won how
many Olympic medals?
(A) 8 Gold, 1 Silver, 1 Bronze
(B) 7 Gold, 2 Silver, 2 Bronze
(C) 8 Gold, 1 Silver, 3 Bronze
(D) 7 Gold, 1 Silver, 1 Bronze

1. TOITS AE (FF ARTT—
(A) 234
(B) e7Eif
(C) YECTIT
(D) TTH

2. W2 THAMI T @I, 9 49 AR NI
(A) Ffe
(B) afiiesle
(C) Gbifpfersy
(D) GG

N = o~

3. GARG! S @ ifdbe

(A) Sy Sferfola *fead’
(B) WIfF &G AT Sfeioie
(C) T&d SR et~

(D) W SoifEfece wfem tofd

4. SO NI PO T e~/ sV (R 2
(A) 8%, 1 (o, 1 ©IF
(B) 7%, 2 (A+ly, 2 o
(C) 8%, 1 Aty 3 o
(D) 7%, 1 o, 1 ©iF
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5. Who is the First Transgender athlete to
compete in Olympic?
(A) Harrison Brown
(B) Kye Allums
(C) Schuyler Bailar
(D) Laurel Hubbard

6. The official languages of the Olympic
movement are
(A) English and Greek
(B) English and French
(C) English and Latin
(D) English and Spanish

7. Find the correct order of the colours of the
rings in the Olympic Flag from left to right:

(A) Blue, Yellow, Green, Black and Red

(B) Black, Green, Blue, Yellow and Red

(C) Black, Yellow, Blue, Green and Red

(D) Blue, Yellow, Black, Green and Red

8. Educational Gymnastics was introduced in

(A) Rome

(B) Germany
(C) Sweden
(D) Denmark

9. Who was the First Indian Member of the
International Olympic Committee?
(A) G.D. Sondhi
(B) Sir Dorabji Tata
(C) Raja Bhalindra Singh
(D) P. M. Joseph
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5. O~ afcafaoiFa 2499 e
o &2

(A) TR qC
(B) & oo
(C) W& qizeTa
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(C) I, ZoW, e, 7S R FeT
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10. Before Independance, which of the
following Sports Federations or Associations were
established?

(I) Amateur Athletic Federation of India
(II) Indian Weightlifting Federation
(IIT) National Rifle Association of India
(IV) Indian Hockey Federation
(V) Indian Polo Association
Codes:
(A) (IV), (1D, (I) and (I) only
(B) D), (IV), (V) and (II) only
(C) (I, (V), d1I), (I) and (IV)
(D) (@), (1), (IV) and (I1I) only

11. The maleis generally able to generate more
aerobic energy than the female because
(A) duetodifferencesinbody composition.

(B) men possesses a relatively large
muscle mass and less fat than the
female.

(C) men have a 10 to 14% greater
concentration of haemoglobin than
women.

(D) lower body fat and higher
haemoglobin provide the male to
generate more aerobic energy.

12. Which factor does not affect the rate of
alveolar diffusion?
(A) Solubility of gases
(B) Thikness of the membranes
(C) Pressure gradient of gases
(D) Reactivity of gases
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13. Which of the following are short-term
Cardio-Vascular adaptations to physical activities?

(I) Tidal volume
(IT) Changes in the cardiac output
(III) Changes in the size of blood vessels
(IV) Ventilatory efficiency
(V) Changes in the heart structure
Codes:
(A) (D, dD), (IV) and (V)
(B) (D), (II) and (IV)
(C) (II), (II) and (V)
(D) (I) and (III)

14. Sequentially arrange the following bones
of human skeleton from head to toe:

(I) Talus
(II) Hyoid Bone
(III) Maxillary Bone
(IV) Sternum
(V) Cuboid
Codes:
(A) (D, (V), V), (II) and (I1I)
(B) D), 1II), (I), (V) and (IV)
(C) I, (II), (IV), (D) and (V)
(D) AV), (D), dID), (V) and (1I)

15. The break down of muscle, which is
stimulated by cortisol, secreted by the adrenal
glands known as

(A) Aminolysis
(B) Actomyolysis
(C) Proteolysis
(D) Myteolysis

13. 7 @EH =R TR AT TEeRT
Tl -qGIE AEFIE SIS 2

(I) 2=12) AR ARl
(1) Z-BeAma-93 ARRET
(1) FTETANSTETT TFED AT
(IV) 1Y beTlbet el
(V) ZTMACE o150 ATae
(PG 8

(A) @), dD, (IV) @R (V)
B) @), dD) 9« dV)

(©) (I), dII) @R (V)
(D) (II) @3 (IID)

14. TP M (A 2l G ART FHIETH
e groef Aels:
(I) OyleT
1) 2R 2T
a1 syiEfs 2
(IV) 5w
(V) eawe
I 2
(A) (D), (V), (IV), (II) €3 (11I)
(B) (ID), (IID), (D), (V) €3 (IV)
(C) (IID), (ID), (IV), (I) €3 (V)
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16. A bone which is formed by the
transformation of connective tissue is called
(A) Replacing Bone
(B) Investing Bone
(C) Sesamoid Bone
(D) Flat Bone

17. Heat-Stress Index depends on
(1) Ambient temperature

(i) Wind speed

(iii) Relative humidity

(iv) Core body temperature

(v) Skin temperature

Find out the correct answer from the codes given
below:

(A) (i) and (v)
(B) (v) and (ii)
(C) (i) and (iii)
(D) (iv) and (ii)

18. When ATP is broken down to ADP, how
much free energy are liberated per mole of ATP?
(A) 68-6 kcal
(B) 26-3 kcal
(C) 7-3 kcal
(D) 21 kcal

19. The intrapleural pressure is always
(A) positive
(B) negative
(C) equal to atmospheric pressure
(D) equal to intrapulmonary pressure
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20. Under normal conditions how much filtrate
is formed by the kidneys each day?
(A) 70-80 liters
(B) 100-120 liters
(C) 140-160 liters
(D) 180-200 liters

21. When athlete raises the weight of his body
on his toes it is an example of
(A) First Class Lever
(B) Second Class Lever
(C) Third Class Lever
(D) Fourth Class Lever

22. The coefficient of friction depends on

(A) temperature of the materials
(B) mass of the object
(C) height of the object

(D) surface roughness of the materials in
contact

23. The property by which a body returns to its
original shape after removal of force is
(A) Plasticity
(B) Elasticity
(C) Ductility
(D) Rigidity

24. Whichone of the following is considered as
kinematic study?

(A) The power of a runner during each
segment of race

(B) The force of a runner exerts against
the starting blocks at the beginning of
arace

(C) The angular motion of a runners leg
during a race

(D) The body propelled due to reaction of
ground

o~ ~ ~

20. Treifs s afsie fFef a7l sifdess
SAER A Fo 2
(A) 70 — 80 feToI
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25. Which of the angular kinematics can be
calculated if radius and angular velocity is given?

(I) Average acceleration
(I) Centripetal acceleration
(III) Linear distance
(IV) Linear velocity
(V) Absolute angle
Codes:
(A) (I) and (III)
(B) (II) and (IV)
(C) (IID) and (V)
(D) (D), dII) and (V)

26. Which prime principle is applied in high
jump event?
(A) Transfer of Momentum
(B) Vertical Projection
(C) Action and Reaction
(D) Counter Movement

27. Power is the product of

(A) Force and Fulcrum
(B) Force and Velocity
(C) Fulcrum and Resistance
(D) Resistance and Velocity

28. A body is released from certain height.
After falling for sometime, if acceleration due to
gravity vanishes, then

(A) the body continues to move with
uniform velocity.

(B) the body continues to move with
uniform acceleration.

(C) the body continues to move with
uniform retardation.

(D) the body continues to move with
uniform variable acceleration.

X-9 20-11
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29. Hyperextension of movement occurs when
the extension is beyond
(A) 60°
(B) 90°
(C) 120°
(D) 180°

30. Which of the following axes passes
horizontally from front to back and is perpendicular
to the sagittal plane?

(A) Mediolateral axis
(B) Longitudinal axis
(C) Anteroposterior axis
(D) Transverse axis

31. The total field of forces which act on
members to remain in the group is termed as
(A) Cohesion
(B) Group dynamics
(C) Leadership
(D) Goal setting

32. Achieving Performance Goal is a symbol
of
(A) effort
(B) skill
(C) competency
(D) time

33. Which tool measures Social Cohesion?

(A) Questionnaires
(B) Sociogram
(C) Interview

(D) Social Interaction Scale

X-10
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34. When athletes express their feelings or
emotions through Physical Complaintsitis known

as
(A) Cognitive Anxiety
(B) Somatic Anxiety
(C) Mental Anxiety
(D) Athletic Anxiety

35. Which is the second distinct phase of
Psychological Skill Training Programs?
(A) Education
(B) Acquisition
(C) Practice
(D) Retention

36. Which one of the following is not a Coping
Strategy?
(A) Social Support Coping
(B) Emotional Focused Coping
(C) Athlete Focused Coping
(D) Problem Focused Coping

37. Theory of Conditioning was proposed by

(A) Alexander Maslow
(B) Ivan Pavlov

(C) Edward Thorndike
(D) Sigmund Freud

38. Which of the following is not an outcome of
Negative Self-talk?
(A) Stimulates under arousal
(B) Performance debilitating
(C) Deflates confidence
(D) Hightens focus
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39. Which type of imagery should be used to
reduce athletes’ anxiety prior to a competition?
(A) Motivational General Arousal
(B) Motivational General Mastery
(C) Cognitive Specific Imagery
(D) Motivational Specific Imagery

40. Which of the following are the
narrow-band approach to personality?

(I) Sensation Seeking

(IT) Telic Dominance

(III) Attention Seeking

(IV) Mental Toughness

Codes:

(A) (I and (II) only
(B) (D, (ID) and (IV) only
(C) (D, (IIT) and (IV) only
(D) (I) and (III) only

41. The Primary focus of effective education
is/are

(I) Prompting the development of critical
thinking skills

(II) Fostering creativity and innovation
(III) Allowing to work independently
Codes:
(A) (I) and (II)
(B) Only (II)
(C) (D), (I) and (1II)
(D) Only (I)

42. An example of Developmental Disorder is
(A) ADHD
(B) Dyslexia
(C) Mental Retardation
(D) Autistic Spectrum Disorders
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43. Which country is said to be the pioneer in
starting the Recreation Movement in the world?
(A) USA
(B) England
(C) China
(D) Germany

44. IGNOU hosts secretaries of the SAARC
Consortium on Open and Distance Learning
(SACODIL) and the Global Mega Universities
Network (GMUNET) initially supported by

(A) UNDP

(B) UNESCO
(C) UNHCR
(D) UNICEF

45. The idea of Four Pillars of Education was
suggested by
(A) UNICEF
(B) UNESCO
(C) NCTE
(D) UGC

46. Which type of evaluation takes place after
the curriculum has been fully developed and put

into operations?
(A) Diagnostic Evaluation
(B) Summative Evaluation
(C) Formative Evaluation
(D) Continuous Evaluation

X-13
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47. The Rashtriya Khel Protsahan Puruskar
award is given to

(A) the institutions promoting education
in the country.

(B) theinstitutions promoting research in
the country.

(C) the institutions promoting sports in
the country.

(D) outstanding sports personalities in the
country.

48. Which among the following is typically
used to display all kinds of creative works of
students in the classroom?

(A) Flannel Board
(B) Black Board
(C) Peg Board
(D) Bulletin Board

49. The factor that effect the development of
curriculum is called
(A) Curriculum Design
(B) Curriculum Evaluation
(C) Foundation of Curriculum
(D) Elements of Curriculum

50. Making value judgement about curriculum
is
(A) Curriculum Design
(B) Curriculum Elements
(C) Curriculum Evaluation
(D) Curriculum Development

51. Excess carbohydrate is stored in the

(A) muscle

(B) intestines
(C) adipose tissue
(D) bone marrow
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47. G (L& Toaplsl SR vl Tl =
(A) oreeiR Timeia bl afsoe
(B) (e*I SIqaH abiaia) 2f oD
(C) (T (AT BRI Af e
(D) Gree= Spisey/ RS FeRyiegr

48. Twfleowhm Sy T AT @dweE
fridioe IR @ER e IS A TS
IS

(A) T @IS
(B) S (@G
(C) ¢olot @IS
(D) ZeEiol (@6

49. @ TFT AGFN KA AT (e Ol &
X
(A) oy ooz
(B) Norarsl R
(C) *MNojew fofa
(D) AIFES ToAW

50. #{To7@ F=tF e 61 1 =
(A) A fTeizs
(B) #NoT& Timis
(C) 2NoT@ s eI
(D) Aoy et

51. wIfsfie FIEREs ol 27
(A) coifiTe
(B) =@
(C) wifStsiie Hafce
(D) wiZ Seai
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52. The word Hygiene in derived from Hygeia 52. BfEfe =1fs 2R (A e a9 9
which means (A) “AfEE
(A) clean (B) #ifavzg 2e7
(B) being neat (C) 4t 287
(C) being rich (D) ©IETSIE A
(D) living well
53. Matchthe following in terms of theirrelation 53. ET SAfafFre SifFw-I-ag e
with their function: SIFF-I T ¢
List-1 List-11 ©ferer-1 wiferer-11
(a) Macro-Mineral (i) Copper .
(b) Macro-Nutrient (i1) Calcium @) i< (1) Al
(¢) Micro-Mineral (iii) Folic acid (b) surCEF-fB (if) PP
(d) Micro-Nutrient (iv) Fatty acid (c) Wigrer-fee (iii) =fere =it
Codes: (d) Ec-ofR (iv) I =nifre
@ (b)) (@ (@ @G
(A) () Gv) (@) (i)
) ) .. @ b © @
B) @G @ (Gv) (a1 (A Gi) Gv) Q) (i)
©) (v) Gil) @) (i) B i G 3
© G G v e e

©) @Gv) @) (@) (i)
D) ) G 3Gv) @)

54. A faulty metatarsal bone or shoes or socks
that are too short, too narrow, or too pointed can
cause a deviation of the toe is known as

54. 36 @Holef GO 2 A et i e
Tl Y3 (REI, ¥ A A9, T AR Sges Rppfe

(A) Hammer toe (A) TS A =g
(B) Pes Cavus (B) o1 e
(C) Morton’s toe (C) X6 (B

(D) Hallux Valgus (D) (&7 SIeAsNA

55. Western blot test is used to identify what? 55. STIBI 0 (575 | *J& FACS IITS T 2
(A) Viral infection (A) SiZAPTEHS AF

(B) Urinal infection
(C) HIV infection
(D) Lung infection

(B) &A@l
(C) «92p w2 o @
(D) TPET IRE
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56. Match the following:
List-1
(Disease)
(a) Encephalitis
(b) Measles
(c) Filariasis

List-11
(Causative Agent)
(1) Myxovirus
(i) B. malayi

(ii1) Flavi virus

(d) Rabies (iv) Yersinia pestis
(e) Plague (v) Lyssavirus type-1
Codes:

@@ () (© @ (e
A v Gv) G) >) o @)
B) @) @O G v (v
© Gv) aG) (@) 3G (V)
O ® 3Gy G G (W

57. Haemophilia disease can be transferred
through—
(A) Mental
(B) Heredity
(C) Pollutant
(D) Vector

58. Which vitamin is an antioxidant and helps
to slow down the process that damage cells?
(A) Vitamin D
(B) Vitamin C
(C) Vitamin A
(D) Vitamin K

59. Which of the following is a psychosomatic
disorder?
(A) Asthama
(B) Diabetes
(C) Hypertension
(D) Migraine
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56. va SifereiafE @Ee ¢

©Iferer-I ©Iferer-Il
() (FIFFa @1&5)
(a) ATCTFEAIRGA () ZZEreZam
(b) =™ (i) 1@ w2
(c) TRt (iil) IfE @ZzPT
(d) TR (iv) SRPI CoAfF5>7
(e) casl (v) TFerTrerZzT 612

PI@ 2
@ ® @© @ (@
A) (v Gv) Gy G @
B) @) @O G ) >Gv)
© Gv) ) @O @) ()
O @O Gy Gy @ ()

57. RRefleml @iel @9 MR =il B
20 AT 2
(A) PR
(B) 3x*ofe
(OREE]
(D) (e

58. (I febifve @it SHfeRHTS W3 @IEs
wfoq afFis T FA0o AW FE 2

(A) fooifim f
(B) febifsm B
(C) febifim @
(D) feoifim &

59. Tiva @ ARFEINHS sz
(A) B
(B) ©RIEGA
(C) TW F&biof
(D) wEeaw



60. Which is the active form of Vitamin C?

(A) Retinol

(B) Calcitriol

(C) Ascorbic acid
(D) Homocysteine

61. The greatestforce of neuromuscular systems
is capable of exerting in a Single Maximum
Voluntary Contraction is called

(A) Gross Strength

(B) Elastic Strength
(C) Relative Strength
(D) Strength Endurance

62. Which is not a basic coordination ability?
(A) Adaptive ability
(B) Balance ability
(C) Orientation ability
(D) Endurance ability

63. A single practice session in pursuit of
training objective is called as
(A) Training Session
(B) Training Unit
(C) Training Schedule
(D) Year Planner

64. The adaptation broughtaboutby the training
will gradually weaken is known as
(A) Specificity
(B) Overload
(C) Recovery
(D) Reversibility
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60. fSBifse Br-a3 e wet Fi2
(A) @foa
(B) Fyerhriiea
(C) SRR Syt
(D) @TPFEE

61. FNEENPREAR PeteE wHifEs «fe @3l
G35 T FAEE CFRT ALIIOE AN FACS T,
RSESEIET)

(A) Z@ &

(B) ZF5x #ife
(C) St #ife
(D) *f& szTAieTel

62. Tpa e TueISFT W @G (e
T TN 72

(A) wfeifens el
(B) SISy el
(C) FIF Bl Fxol
(D) %) =Frel

63. AR ST &) G AT STefeIIete
™ Tl =

(A) aff Fa
(B) ¥ @5
(C) effeiweera STsTego!

(D) IS »IfaFmaI]

64. AR M SRS A A 73 2@
ASHNCP T

(A) fEel
(B) wIfsfa& bivf
(C) el
(D) ferdresfs
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65. Assisted Sprinting helps to improve

(A) Stride frequency
(B) Stride length

(C) Reaction time

(D) Maximum strength

66. Which one of the following does not come
under external training load?
(A) Rate of perceived exertion
(B) Distance covered
(C) Metabolic power expressed
(D) Maximum speed achieved

67. If a muscle shortens immediately after a
stretch
(A) energy expenditure increases.
(B) explosive power output decreases.
(C) endurance output increases.

(D) force and power output increases.

68. Liftinganon-maximalload with the highest
attainable speed is known as
(A) Dynamic effort method
(B) Repeated effort method
(C) Sub-maximal effort method
(D) Maximal effort method

69. Basic Principle of Fartlek Training is

(A) variation in duration
(B) variation in place
(C) variation in pace
(D) variation in strength
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65. T @G @e Tafe ware AR
FE?

(A) BT ™
(B) BiZT 1k

(C) afsfazl o
(D) A =&

66. T5a @0 TS 2w @ice Seow
T A2
(A) Iy Sl 919 29
(B) fooibsi™ Fore
(C) Roife e i
(D) A 5ifs oree

67. T G (oI 2PAIRTe 28T A SR
HPHO® T OIRC
(A) & I I =I17 |
(B) frwriss =& Tesiiv g3 117 |
(C) zTHileTel Tl Jfw 21 |
(D) 3@ @R *f& Sesiin I 71 |

68. AETH TGy sifed AN GF6 S-S
©IF Traee Zed AAfabe—

(A) ISR 2B “Mafe
(B) 7RIgE 2B afo
(C) To->ifa &eRl siafo
(D) ifE 2B 1as

69. FIHE alffmreR o Sifo—
(A) ITIFIETH OO
(B) @RI4IR ooy
(C) sifex wrresy
(D) *ifeq siewy
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70. Ability to reach maximum speed of the
movement without resistance or against slight
resistance through muscle contraction is

(A) Locomotion Speed
(B) Acyclic Speed

(C) Reaction Speed
(D) Speed Endurance

71. Which of the following memory is used for
storing software that does not need updates?
(A) Flash Memory
(B) ROM
(C) SRAM
(D) DRAM

72. Skewness of normal distribution is
(A) negative
(B) positive
(C) zero
(D) undefined

73. How to judge the depth of any research?

(A) By research title

(B) By research duration

(C) By research objective

(D) By total expenditure on research

74. The conclusion/findings of which type of
research cannot be generalized to other situations?
(A) Casual Comparative Research
(B) Historical Research
(C) Descriptive Research
(D) Experimental Research

20-11

70. oI SREIBER WG efstaiy A AR
eifstaitdd e SNeviaeEa JETw sifere (e
el %

(A) GG oo
(B) SR oife
(C) afsfer oife
(D) 5ifS szaieTet

71. fsfiee (WfEE @b TReWT RTHCEE
Gy S 2 AR B ARG (712 2
(A) I Gt
(B) 8¢y
(C) @egEa@y
(D) TC=maas

72. FeIRF I6-97 ST 2
(A) AR
(B) Efwaivs
(©) *=
(D) wifdifs®

73. SRR Sfeiel Freid [RoE S 2
(A) SRR M= Bl
(B) SItRNS RISl =il
(C) sitzRel= Srmly =l
(D) SR 6 53 =il

74, (P9 GREE RN SRR/ SPrahiefe
ey AffEiere AyEdwad w0 a7 e

(A) ARIes GemERe sl
(B) afszif sicaetl

(C) AT siczel

(D) *RrHIES IRl
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75. Which among the following is the benefits
of using simple random sampling?

(A) It increases the
representative.

sampling

(B) Interviewers can choose respondents
freely.

(C) Informants can refuse to participate.

(D) We can calculate the accuracy of the
results.

76. Which form of Hypothesis states the
relationship between the variables?
(A) Null form
(B) Prediction form
(C) Question form
(D) Declarative form

77. Which of the following test is used when
inference is to be drawn?
(A) t-paired test
(B) t-unpaired test
(C) z-test
(D) Analysis of variance

78. The term which denotes more than three
author is
(A) Ed.
(B) et al.
(C) ibid.
(D) doi.

79. Study of cause and effect relationship
between variables is done by
(A) Casual research
(B) Empirical research
(C) Explanatory research
(D) Longitudial research
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75. TR @0 Al WEeN AR TR
SRS

(A) @b T3 eifofig g e |

(B) AFFIRIITFT FRTOI@ Seawel
fIo <09 A= |

(C) OYWISIN TRHERE FACO P FACO
AEA |

(D) SISl TAGEE gerel ol F00

AN |

76. ZRARIBIER @ w0 (eERETa T
B A
(A) = =5
(B) Sfamaia =
(C) o
(D) CaReRETs 2w

77. SRS SR T NI6E (I 2R 929
T ?
(A) ‘t-(eTG 219
(B) ‘t-R=re 5=
©) ‘z
(D) @fbcas fKesad

78. @ == (@EEE foqea @ @FTLHE
(QRR—
(A) Ed.
(B) et al.
(C) ibid.
(D) doi.

79. (SHRERER W& I @R A AE
G B A A T2

(A) Casual research

(B) Empirical research
(C) Explanatory research
(D) Longitudial research
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80. What is the full form of SPSS?
(A) Statistical Package for the Sport
Sciences

(B) Statistical Package for the Social
Sciences

(C) Statistical Package for the Science
Studies

(D) Statistical Package for the Social
Studies

81. Craniometry is a technique

(A) to measure skull

(B) to measure pelvis

(C) to measure sternum
(D) to measure long bones

82. Optional Arousal Theory of Anxiety was
postulated by
(A) Clark Hull
(B) Carron
(C) Martens
(D) Yuri Hania

83. Which is the most reliable method of
postural assessment for sports persons?
(A) Visual Observation Method
(B) Plumbline Method
(C) Goniometry
(D) Radiographic Method

84. Theevaluation whichisundertaking during
the course of training is called
(A) Summative Evaluation
(B) Creative Evaluation
(C) Formative Evaluation
(D) Normative Evaluation

20-11

80. SPSS-a3 sjcfmst F 2

(A) Statistical Package for the Sport
Sciences

(B) Statistical Package for the Social
Sciences

(C) Statistical Package for the Science
Studies

(D) Statistical Package for the Social
Studies

81. WifNewl @3h FHie—
(A) = e sifzwisl 0o
(B) =ife #ifzsiol Face
(C) BIf Aot 0o
(D) =R T “ifFwl7l FACo

82. Trarol e Treel ©§ (F iAo
AR 2
(A) I 27
(B) &4
(C) =fGe
(D) 2T B

83. T Flul IfGwE T SIHQPT TR

TR WS Iwfe—
(A) BIFa 2@ AAmfe
(B) #ireiizs ~mie
(C) sfverl
(D) e fafs

84. e ST (X SETR P 27 OICE el
R
(A) FRFRY JETTRE
(B) &I JeTTE
(C) oIoTETE FoTHe
(D) Wi IEE
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85. Match List-1 with List-II and select the
correct answer using the code given:
List-1 List-11
(a) Talent detection (i) Screening
(b) Talentidentification  (ii) Advancing
(c) Talent Selection
(d) Talent Development
Codes:
@ (b (© (@
(A) () Gy @G Gv)
B) Gi) () Gv) (@
© Gv) @G @ G
D) (i) @ Gv) (D)

(iii) Discovery
(iv) Choosing

86. Name the test which will assess the athlete’s
agility and balance.
(A) Burpee Test
(B) Zig-Zag Test
(C) Illinois Agility Run Test
(D) RAST Test

87. The test and measurement are rendered
meaningless without
(A) Recording data precision
(B) Recorded fact interpretation
(C) Principled evaluation
(D) Testing procedure analysis

88. Norms of Physical fitness test battery are
worked in consideration of

I Age
(II) Weight
(IIT) Sex
(IV) Height
Codes:
(A) (D and (II) only
(B) (II) and (III) only
(C) (I and (IV) only
(D) (I and (IV) only
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85. OIfFTP-I~ag A Siferel-11-a3 e e 1o

Ted (@G (A 1o e |
©Iferer-I ©Iferer-Il
(a) 2foel i (i) =R
(b) Afee! =effemad (i) TP
(c) et Fipa (i) =nfs=
(d) effoe! K (iv) 2w 341
(G &

@ ® (© (@

A @ @) Gi) (@Gv)

B) (i) @) Gv) @

©) Gav)y @Gi) @ G

(D) Gin) (1) @[v) (i)
86. SHIAMETHH OLATS! QI SR T T
AT TN—

(A) A0 =T

(B) fersi-smtot #1Frmi

(C) ZeTTTa Seoiae! (T =151

(D) RAST =Sl

87. T @R s @A =T w2
(A) @R (! Fgerel
(B) @FEF© ey il
(C) Tfosrs Jemre
(D) IS oiwfe fRead

88. «Iifss o™ (596 Aot @ fawafa
Riee 33 F5 391 TW—

1) I
(1) €&

(I1I) fers

(IV) Tt

T
(A) (D, (IT) vytq
(B) 1), (IIT) wy~tq
(C©) D, (IV) sy
(D) (@), AV) sg=g



X-23

89. From out of the various group of tests
mentioned below, identify the motor ability test:

(A) Roger’stest, Barrow’stest, Mc Cloy’s
test, Scott’s test

(B) Krus Weber test, Harvard Step test,
Sargent test, J.C.R. test

(C) Cooper’s test, AAPHER’s test,
Canadian test, Harvard test

(D) Oregon’stest,Johnson’stest, Adam’s
test, Fleishman’s test

90. The term validity used as a substitute for
reliability as one of the test criteria, is
(A) Adoptability
(B) Adaptability
(C) Repeatability
(D) Applicability

91. Theory which is offshore of modern
management theory and was developed during
World War-1I—

(A) System Management

(B) Contingent Management
(C) Quantitative Management
(D) Bureaucratic Management

92. Which of the following is considered as the
life of an enterprise, organization or institution?
(A) Discipline
(B) Command
(C) Equity
(D) Cooperation

93. Pressreleases, sponsorships, special events
and webpages are part of
(A) Direct Marketing
(B) Advertising
(C) Sales Promotion
(D) Public Relations
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89. s TfaRe “ISrwia fAfen 2kteoia S (o,
N5F el AT *Ie P

(A) TSR 2T, A AIH, WFFES

(B) TFIGH SR 715!, ZSTE (69 A,

(C) THAIA »1Fr%I, AAPHER-93 21,

(D) STISICT  ATIF, GO AT,

90. “rFIA AT RETE FSawisror Rarmest
[SERISRISEC TG
(A) g=dciane
(B) SiferEIoTs!
(©) Frarferterel

(D) eyt

91. & o YT TR ©TeT THIS! €%
fror fgraa o1 i zrafes 2
(A) “T&ls ZIo
(B) &= gl
(C) sifzTielore g7l
(D) SIwEreifEE aglom

92, oA @G G GHR2EE, A 1 2SR
Al f2eTE [be?
(A) ===l
(B) =Mt
(C) 1™
(D) sl

93, (@7 TfeTs, ~aerame, [ 3rev W3R
CRACAT-GF T —

(A) A [olee
(B) fReaio

(C) @ avm
(D) SRl
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94. Getting the right facts to the right people at
the right time in the right way is called
(A) Game Management
(B) Public Relations in Sports
(C) Motivation for Sports
(D) Leadership in Sports

95. First step of Budget Preparation is

(A) to search income

(B) estimate expenditure
(C) planning

(D) facilities and personnel

96. Which of the following is the correct order
of controlling from most to least in the type of
management in sports?

(A) Laissez-faire,
Authoritarian, Eclectic

Democratic,

(B) Authoritarian,
Laissez-faire, Eclectic

Democratic,

(C) Authoritarian, Eclectic, Democratic,
Laissez-faire

(D) Democratic, Laissez-faire,
Authoritarian, Eclectic

97. The space bias in communication is related
to
(A) Oral Medium
(B) Traditional Medium
(C) Broadcast Medium
(D) Print Medium

98. Which of the following is not a part of seven
‘C’s of communication?
(A) Channel
(B) Content
(C) Curiosity
(D) Clarity
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94, (% O AF R AT TRT g A0S
T (slte (reTies 74 28
(A) &l AT
(B) CSTIYETR Sl
(C) (IR & (efaell
(D) 4R GTPS

95. JNEH 2igfoq AL isf 2o
(A) ST SEPTRI
(B) 2isae1e I3
(C) Iz
(D) A @R T

96. S I CLYHAIR ARZIATIT LA AT

(I S FEees s @

(A) Tfegog dife, oIrolfEs, Foeam,
KIERIEY

(B) I9gafnl, sereoifes, afesoy Tfs,
RIERIEY

(C) o, AR, iz, Tfewroy
Jfe

(D) sereifes, afexroy s, Feeam,
KIERIEY

97. CIIANTAITE B AHACST AN FifFe—
(A) Gl g
(B) afSzidl s
(C) =B M
(D) T2 i

98. THa @0 NI A ‘C’-9F =IRH
A2
(A) IS
(B) faaw
(C) (Frozel
(D) fsfeTel
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99. Which of the following are the role of
sports manager?

(I) Interpersonal role

(IT) Decision making role
(III) Informational role
(IV) Authoritative role
Codes:

(A) (D), (ID), (IIT) and (IV)
(B) (IV), (IIT) and (II) only
(C) (I), (II) and (IIT) only
(D) (I), (IT) and (IV) only

100. What is the primary goal of financial
management?
(A) To minimize the risk
(B) To maximize the owner’s wealth
(C) To diminish the return
(D) To raise profit
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99. o3 NS el AIZIATE G 2
() Sefes S
(1) Prareg ez i
(1) w2 g
(V) TEGLT gl
Y2
(A) (D), D, dII) @R (AV)
(B) wgi@ (1V), (1) @R (1)
(C) wgag (), (II) @<=k (III)
(D) wgwig (I), (1) «=R (IV)

100. YT AT AART T Fo

(A) e e

(B) Wifesena 1w A4 <
(C) o g ==

(D) =T ACIel
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